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— 72RO DUaAwa KU 27N W 2NN O
And do we then say to a person, ‘sin in order to benefit your friend’

OVERVIEW

nww 27 argues that we cannot permit another person to be 7717 the N9 in order to
prevent the 2°271 of the nd from a NXVM 21°1, because we do not say to a person, sin,
in order so that your friend will derive a benefit from it. n190In will qualify this
ruling where it does and where it does not pertain

mooIn anticipates a difficulty:
— 9290 29 (0w 3,35 paryy) 1v:wn 9533 9INT NN

And that which the X723 states in J927v» ®22 79 that %29 maintains -
— 1329 NYOIR YIND DY 12999 KDY INDIYD NNDIR 7257 9anY 799 NN

It is preferable for the 221 that he should do a ‘slight’ 299°R, (to be 12 X5w w91
aP ) so that the 11"y should not transgress a major M9°R (of eating av)*. This

seemingly contradicts what we are saying here that we do not tell a person (the 72m) to sin (and
be APAn T2 X9W wdn), in order to benefit a friend (the 7"y that he should not eat ’7:D).5

mooin replies:
— Y1 DY D2V §IND DY IR NOVW 271D 0NN

There the 12r is justified to be 12w an %P MK, in order that the ="'y should not

eat ®av on account of the 73r -
— IMINDN D2INN DY 1YY T5 NH1I 1D 9INY

for it was the 721 who said to the 7"y, ‘fill for yourself a basket of figs from my

fig tree’. Therefore since the 721 may be causing the 71"V to eat 73v (for the 7"y presumes that
the produce of a 7217 is not 9av), it is understood why he should do everything in his power to

" The case there (on X,27) is where a 721 told an X7 2 to fill up a basket of figs (for the 71"v) from his fig tree. The
ruling is that whoever hears this may eat the figs from that tree without separating 7wyn from it. Since the 7217 told
the 1"y that he could have the figs, we are certain that the 7217 took 2wvn from those figs.

% One should separate wyn from produce in a manner that the 2wvn that is being separated and the remaining
produce (which will become P21 and not 22v) are together. This is called Apma 1 1 wyn. This rule is only 79103,
however 72y°72 if one was AP 12 XYW Wyn it is a proper Twyn. Being apmn 11 2w won is called R2°9p X110°R. The
12 here is ApAn 1 XOW Wy, since the figs were picked from the tree by the 7"y (and "wyn cannot be taken while it
is still 721n).

? Eating produce from which 2wy was not separated (i.e. 22v) is an Xn» K7 10X (and one is 2w *7°2 A 2 for
eating 72v).

* We are therefore certain that the 72n was (7p¥a7 12 X2w) wyn w™on, even though it is 79MN27 MOK.

> This is what our X teaches that we will not allow someone to be 771 the no (which is only a 1312772 Maw) in
order to prevent another from transgressing the Xn>71X7 710°X of 7°dX.
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prevent the 1"y from eating 2v, including separating ®qpyam 1 Xow wyn -
— 7 HY 0INN NYYI NOY NXON YaN

However here by the case of 71102 n5 277, where the m19°8 was not caused by

the one we are considering whether he should be 7717 -
— N NOIN 19D 192N N2 XYY DP NMUIN 199X XRUN 1Y ©Y9IIN PPN

We do not say to him, to transgress [even] a slight m1o°8, so that his friend
should not come to transgress a severe 919°R, since he had no part in causing this MoX.

mMdOIN rejects an anticipated conclusion based on the previous answer:’
—9PNNY DWN VIVIY PN KLY P399 1DPANT TUN 13 PHN 1339 9IIN)

And the R''2%9 states that we cannot infer from the case of “Wyn, even
regarding the »°27% himself to permit him to be 711 the no.

mooIn explains the difference:
— 590980 NYWYI NY 191y NPT

Because there (by wyn), no 710’8 was performed as of yet, the 7"v did not eat the
qwyn before the 72an was qpA7 11 ROV Wyn -
— Y19 DY 9990 N0IN NYY? XD HP NHDIN NYYIY 201)

So therefore it is preferable that the 12r should do an ®p 212°X, in order that an

29717 998 should not be done because of him -
— 799)% X919 HYY)I 939 YDIN YV AYYNn XoN YaN

However here the act of the m99°R (which is putting something in the oven to bake

on naw) was already done, and the 719°X will be completed by itself, no other
action needs to be done; in such a case, even the perpetrator -

— 0912 9P NUIN IPON NUYS NY
Should not actively do even an »p 2128 (to be 7717 the nd) with his hands."

® See “Thinking it over # 2.

7 moon just concluded that the one who caused the Mo°X (the 72r) may transgress an %p MO to protect the 1"y from
transgressing an 71n MoK, It follows that the person who placed the dough in the oven (the °27»), who certainly
caused the MoK, should be permitted to do an 7 70X (to be 7711 the no) in order that he should not be 12w an MoX
M. (See ‘Thinking it over’ # 1.) The X"2°1 rejects this reasoning.

¥ See “Thinking it over’ # 3.

? By "wyn we are preventing the 7"y from actively doing an 10k (of eating 2v), therefore even a stranger (who
caused the M0°R) is permitted to transgress an 2P MoK (to be AP 11 ROW WwIn); however here by the bread, when
the act of MR was already done (the M0°X of baking consists of placing the bread in the oven) and the p MoK (of
noi n»77) will merely prevent the automatic conclusion of the 710°X; that may be prohibited even from the
perpetrator himself.

' This reason can possibly answer the initial question of Mmoo as well. We cannot compare the case of Twvn to the
case of 711N nd p>277 (without resorting to the explanation that there the Xur is 17° 9v X2).
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mooIn anticipates a difficulty:
- 111"11!‘\ 13 998N TaY PSNY 3 (0w 3,81 97 PpL») NIIYNL PNT XM

And that which we learnt in a 73w» in 79w 79 regarding one who is half slave

and half free man, that -
= 129N 12 N AYIVY 129 HN 1°91D

We force the (remaining) master and he makes this 121 72¥ X717 into a 1> 32, so

that now he can marry a 587> na.
—¥732Y 99NWYNN I3 NTINS 29 MIN (x,nY 97 NP INNAT 2) JY 9N)

Even though that in this same P99 in P2 'on we find that 77%1 39 ruled,

whoever frees his slave -
- 121‘11:911 0N ONYYT AWy 92y

transgresses the 7wy nxn of 1712yn 272 aWY. We see there that one (127) is forced to
transgress (an ¥nN»MIRT 7wWY) so that another (the 72v) will be able to fulfill the mx» of having
children; this seemingly contradicts our X3 which states (127) Q787 2™ PR, to sin (by freeing
the slave) 77an 721w >75 (the 72v) to have children! 13

mooIn responds:
— N9 1129 MIYNT N2 1999 NINY

Having children is different, for it is a great /193, and in order to enable someone to

perform a 7127 MX» one is required to be 121 this WY -
— 75 DY RSN NYY YI1HH 1129 DINY RN 2393 Fonn »wunts

As the X3 answers there regarding X''S who entered the 7''%72 and did not

find there ten people -
— NV 0297 NMINN Y MPHYNY 1Ty NN 99N

So he freed his slave to complete the 1. He was able to do so despite that he
transgressed the Wy of 1Mavn oma owh, because a mx» for the public® is
different; similarly a 727 mzn is also different.

" If two partners own an *1v13 72y and one of the partners frees (his share of) the 72y, this 72y becomes a T2y 1¥n
1731 12 8 (half free and half slave). This 72v cannot marry a ?X7w> N2 because he is still 72v 1°x1, and he cannot be
with a 715w (as he could have when he was an 72v) since he is a 71 12 121 (who is prohibited from being with a
mow).

12 The 70 writes (" ,73 [172] Xp7) regarding 0°1w33 0°72Y that 1712v0 072 27w you should enslave them forever. If
one frees his slave he is transgressing this 7wy mxn.

" See “Thinking it over’ # 3.

' a7 7779 is a 727 Men since the existence of the world depends on it. Regarding a 7121 71¥» even if one did not
cause the MoK he is required to prevent the 710°X (however when one is causing the 70X [as in the case of wyn]
then even if it is not a 727 M¥n he is required to prevent it).

15919 pooa.

' When there is a 1" and a AWTIPAY 127 is recited, the Mx» of *"12 TIp2 *nwTpn is fulfilled.
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mooin offers another qualification on the rule of 77°2r 71w >72 X7 07RY R"K:
— 5993 515 NON DTNY 19 DIIDIN 29 NINP YWOT RN RPYTT 91D ¥ Ny

And additionally one can say; that we rule 375 Xun 278y 292K 2, etc. only

where the one whom we seek to protect was negligent in some manner, however when
he was not negligent at all, then we rule that 71an 72w 2awa xon.'®

In summation moon offers three instances where we say 77°an 11w 2°2wa Run. 1. In the case
where one causes the M0°X (the case of the 72r7). 2. When the transgressor is not a y19 (the oy
YIR:7 or the 1°11). 3. Where the result will be either a 1727 mx» (such as 1™9) or a 0°277 M¥A (such
as saying a mw17paw 11a7).

Mo0IN mentions an additional benefit from these (last) distinctions:
— (DWY X397 D2ND) DAY TR Y92 1P9NT XD 99Y INN)

And it will be properly understood that which the X773 states in the beginning

of vrIw3 79N Po -
- Hanbynt avy s °nvs 11 vrw NoaT AWy SNNT

For the nwy nmxn of bringing the 1192 1277 for which there is a n9> punishment if

it is not brought, this 7wy pushes away the 7wy mxn of mA»Ywn which generally

forbids us from bringing a j27p after the 0°°27v7 P2 5w 0N,
= IND N2 2713 INI95 D193 9DINNY 122991 NNHWNT AYYA DN »9aY NP

So it turns out that the 2°1772 transgress the 7wy of m»bw: by offering the 2o
212> his 3299, in order that he should being his 192 127p. The reason is because the

' This additional answer may agree with the first answer that if someone causes the xuf he is required to be 12 an
9P MR in order to prevent it. However this answer adds that even when one is not the cause of the Xun, he is still
required to prevent it if the Xv17 was not ywd (as is evident by the 75w "ni1 shortly).

'8 In the case of "na no 277, the 227 was (somewhat) negligent for he placed the N3 in the oven on naw (albeit
AW2); see M NI, [See 19913 3"7 2,87 PPuA MDOIN where MdoIN writes that he is a YW1 because 72°wWnY 0 277
(indicating that the > was that he assumed it was not yet n2w).] However by the case of “wyn, the 7"V was not
negligent at all; he merely took the fruits at the behest of the 72m. Similarly the °1y1> 72¥ (or 72v 1°X¥17) was not
negligent, therefore it was permitted to free him (for 7"19 or a 1°1n).

' The X3 there cites a Xn*"2 that a 01193 70 can bring his J27p even after the 0°>27w17 12 5w 7nn if he forgot to
bring it before the 7°»n on 102 27y. A >3 "0IA is (for instance) a 21 who counted his seven clean days and in
order to eat w7 (or enter the w7pn) he is required to bring a j27p. He was able to bring the 7279 on 10 27V,
however he forgot and reminded himself after the afternoon 7n was offered. The rule is that no 7277 may be
brought after the 0277 172 2w 7nn. If we will not allow him to bring his 129 he will not be able to partake of the
109 1272 (which is 2°wp).

2 The 77N writes (3,0 [TM9¥2] 12712) that " 7M¥7 K77 WHIT NNON 1097 MWy 7m a1 wIRM.

2! The 7wy that no 12p be brought after the 027w 12 5w 70 is referred to as w7 mwy. It is derived (as the X3
mentions in 2,731 o°’nod) from the 7105 (in 7,7 [1¥] X7p") which states regarding the 7nn n?w that *2%1 %Y upm
oW, teaching us that 0713 N1I27PR 93 02w 7°9y, that with this 70 129p all the N3y are completed (and no more
are brought).
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01195 10 was not ywn.?

mooIn offers an additional case which can now be understood:
— 1535 93 XYY 193 (w1 3,57 91 1P2AYPPYT RIN1 9992 1)

And similarly in the last P92 of 1°219%» n>on where the X n3 cites a X172 which

states, if a n»as was found on a 3779 on naw (which makes him unfit for the 7712y) -
— Ay »n7 23 5Y 9N 193°Wa 99 NN 1923

His friend may cut it off for him with his teeth, even though cutting off a n%2

(with one’s teeth) constitutes a N2w. He may transgress this NMaw since the growth of the
n%2° is not the fault of the n%2°17 o¥2.

mooIN anticipates one final question:
— 9991 313 N2 1YY PPN Na 18N NNV N8N 3N

And regarding the female slave (n°1v15 715w), who was half slave and half free,

which the people treated with promiscuity -
— (3,n% 97 L2 NTIVNI N2 HN 1999

And so the 72 forced her master to free her as stated in 791257 P79, even though he

is transgressing the 7wy of 1M2avn on2 02w, and did not cause the problem and the people were
(seemingly) yw10; why do we say here 772 721w 22awa Xon?!

mooIn responds:

105397 MI¥ND 33 979 Z°PONIRY PHYT MY ANRLY INIYRNY NN NNYHY DIVN
Because she was circulating and making herself available for acts of
immorality, so the status of the consenting people is considered to be similar to

that of 278138 and not o°ywo, and it is also considered like a 2°377 71%%,% since she
was causing many people to act immorally.

SUMMARY

*? Forgetting to bring a 1277 is a lesser negligence than forgetting that it is n2w and doing a 7X%7.

# nv20 is a certain type of wart which renders the 175 a 21 9v2 and unfit for the 772V in the p"na*a. See [1MKR] RPN
23,20.

* Cutting off a N2> on naw with a knife, etc. is forbidden Xn»1Ta for it is a 77930 of A (shearing wool); however
cutting it off with one’s teeth (which is an unusual way) is only a 112772 Maw. In order to permit the 172 to continue
the 7712y (which is a 71¥n) another 3775 may bite off the n%2° (when it is on a place where the n?2°77 2¥2 cannot reach it
with his teeth), even though it is 712777 7OK.

* Where it not for the 957 131 172 1371 the 13127 would not have forced the master to free her (as they do by a 72y »xn
17717 72 1°X¥MY), since a woman is not obligated to fulfill 77271 775 mxn.

?6 This justifies the freeing of the fmow according to the answer that ywo X927 X271 we say Tan 720w Ko,

*7 This justifies the freeing of the Andw according to the answer that we say 121 Xvri by a £°277 m¥». Preventing the
many people from sinning is considered a 0°277 Mxn.
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We say T7an 72rw 2°2wa Ko if, a) he is causing the (greater) sin [and the act of the
sin was not yet done], b) the sinner is not a Y219, ¢) it is a 727 MXHN or a O°277 MXA.

THINKING IT OVER

1. The X"21 explains that we cannot resolve that 7m77% 12 10 from the case of
the 12r1.”® Seemingly the query here is if 7im77% 1% 1°n7; if we assume that 19 17°n7
then he is not transgressing any M0°X. However, by the 22n we say 92n% 7% X2
21 XD2P RMOKR 723°717, that he is transgressing the M0°X. At most we could be LD
(in the X"17) that the person should be 777 (and be 72w the n1aw) but not that he is
permitted to be 7717!%

2. What would be if someone gave the P27 the dough (32w32) to place it in the
oven; would he be permitted to be 7711 (since he caused the **nox)?*!

3. Will the answer of the X"2°7 (that 2087 WYl N9 1™7Y) be a sufficient
explanation as to why we are 71912 that master of a 1717 12 XM 72V 1X7 to free his
salve (since by freeing him the 72y will be prevented from continually nullifying
the ¥"n of °1"19)?

the reason Cases where we rule 77721 7o1°W 9°2w2 Xuni

TOTY M0ORT AWYIRY .2,y X2 MOK. 1 APYAN TA ROW YA 0°IRN HW 77390 T2 XN
YW RY 2,720 men L1 129 DX POID PN 12 PRM 72V 1IN

(YW RY) 02217 Men TIn D°PWa2 172 W R

YW XY TROWRT WY AmT 10D 27Y2 0192 0NN

YWo XY PIWI 15NN 1720 N9 12 RYAIW 37D

0°277 M¥n .2 ,ywo R .1 TP AT 72 1N PN N2 XM AW 7NN

2 See footnote # 7.
¥ See wx nnn.
30 See footnote # 6.
! See oK "1o.
32 See footnote # 8.
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